APPSC: Group-1 Services(28/2022) Preliminary Question Paper with Key

] Paper - 1 Held on: 08-01-2023
REGISTER HUMEER| : R
GS/1 G/100 2023 ‘HIII Series
SCREENING TEST g E

(English & Telugu versions) Max. Marks : 120
Time : 120 Minutes ﬁ.ﬂﬁig : 120
MDA » 120 HIv&Svey i - ==

e

. d
; INSTRUCTIONS ( ?5-'1-13"-{'-’:' : n recepit of the same an

check the Test Booklet and ensure that it contains a8ll the questions.
Test Booklet or Answer Sheet, please g:t itt. r?pr;actgd immediately. A, 5% l;}Léﬂeﬁ‘ o) Wi
GOLTRV (DHIE0 ©odS Totsd HFng, Register Number & ﬁ;g';m 95 SHandys TR
SHOODDAEIS’ BS* SrdFISBR. (HHDHSNS MR, HETEPS Dl
PdaineS” I o JoLS SNE ST, h uestions on History and
£ o T ol i o gt 0 gt P el B
ture, as questions on titution, Polity, =0¢ ing and Part a
Part C has rinde e m?:lm Ardhon’ pradesh Economy and Planning
questions on Geography. Each part carries 30 marks. Do 5%5' '&*é B & 5“5%&”“5;5‘5'

B [0, DB5060 4 ey HOAKH 120 Beeos,D. #§ A & b o

2063, F5S whd @08 uEISES 8855, g C & 0B ol H;Lr-'ﬁ 534 d55 w06

S0 ) D & @i’ BHe%d. (36 FtsH 30 Srtyw 2T ONOSLETON. _ —
3.  The Question Paper is set in English and translated into Telugu language. The English version

be considered as the authentic version for valuation purpose.

BEDEE» RofWS sarmianad Bwim Rt SqIr SDAED. VETED DS SO0

BT R0 BEDEED (DSrssm SRS HERND.
4. The Test Booklet is printed in four (4) Series, viz. |A|[B|[C||D | The Series, |A]or|Bfor|C|or [D

is printed on the right-hand corner of the cover page of the Test Booklet. Mark_ your Test Eno!det

Series |A|or|B|or|C|or|D in Part C on side 1 of the Answer Sheet by darkening the appropnate

circle with Blue/Black Ball point pen.
@’:ra:l D0 Fenrd Siswed® (Series) esre [A||B]|C||D Sgsoes Sn@osads. B SEEVON
7] o [B] o [C] o [D] oo 04, aesn dios, st 8 HEFD Sres? sn@osadsa. 2080,

m;&mm;ﬁﬁm{&ﬁe&} Al [B]md [C|md [D|md darems Higan esws 3 2§ C
S0t womEiamn Sranosuds B30 ar/ans end Hanot 1S Som WY VoDSB.

Example to fill up the Booklet Series
If your Test Booklet Series is A, pleasa fill as shown below :

@ ® OO

¢ marked the Test Booklet Series at Part C of side 1 of the Answer Sheet or
Ifj'ﬂu have no ¢t leads to discrepancy in ﬂeterm;'uing the exact Test Booklet Series,

in a way that i ‘ .
;’;ﬁ O il such cases, your Answer Sheet will be invalidated without any further notice.
No correspondence will be entertained in the matter, _

.;fgﬁuﬁl (Series) RGPS DS m@@ﬁﬂ'ﬁﬂ d-s@ow
?gmﬂaﬁ Sgain PO BeviEUDOLD DapeSsitd d S50m &)
meeﬁ'{ S dewdod P b Favwomd DRGSR




GS/1GM00

j -8

Part A
History and Culture

The following book was translated by Gandhiji

with the title Sarvodaya

(1)  dJohn Ruskin - Unto This Last

(2] Leo Tolstoy - The Kingdom of God
is Within You

(3) Karl Marx — Das Kapital

(4) Maxim Gorky - The Lower Depths

Match the following newspapers with the
persons associated with them :

a. Indian Sociologist [. Virendra
Chattopadhyay

b. Islamic Fraternity II. . Shyamji Krishna
Varma

¢. The Talwar [II. Muhammad

' Barkatullah

d. Swadesh Sevak IV. G.D. Kumar

Choose the correct answer usﬁg the codes
given below :

a b c d
(1) I I I IV
(2 IV I I I
3 II IV I 111
4) 1 II m Iv

he idea of Indian Constituent Assembly was
t forward for the first time by

()  Dr. B.R. Ambedkar
{2‘5,' C.R. Das

(3)/ G.B.Pant

(4)| M.N. Roy

(4)
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4.

L5

Match the following authors with
works :
a. Al-Biruni L

their

aniqhd-i"irna Shahi
b. Minhaj-us-Siraj 1L T.~1|1qiq-i=1~iir::l
¢. Ziauddin Barani III. The Rihlg

d. Tbn Battuta IV. Tabagat-i-Nasirj

Choose the correct answer ugin

given below : e
a b ¢, Id

m oI I 111

@ w1 I IIT

3 I IV Y.

@ T I IV I

Which of the following institutions were not
established during the
Movement ?

I. Besant Theusﬂﬁhicai College,
Madanapalle

II.  Jamia Millia Islamia, Delhi
III.  Kashi Vidyapith, Benaras
IV. Aligarh Muslim University, Aligarh

Choose the correct answer using the codes
given below :

(1) Iand Il only
(2) II and III only
(3) 1Il and IV only
(4) TandIVonly

Non-Cooperation

The Indian Independence Bill was introduced
in the House of Commons by the British Prime
Minister Attlee on

(1) 2nd July, 1947
(2) 3 July, 1947
(3)  4th July, 1947
(4)  5th July, 1947

6.
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¢ A

During the Indus Valley Civilization, the|7-

beads manufacturing industry was located at
(1) Dholavira

(2)  Suktagendor

(3}  Chanhudaro

(4) Daimabad

Select the correct statements about religious g

beliefs of the Rig Vedic Period :

I.  Dyus was a celestial God of the Rig
Vedic Aryans similar to Jupiter of the

Greeks.

II.  Prithvi was considered as the mother of
all Gods.

II1. Agni was worshipped as the
intermediary of taking the offerings to
the deities.

IV. Cow sacrifice was also the part of
worship.

(1) I, I and III only

(2) II, III and IV only

(3) I, III and IV only

(4) 1,11 and IV only

Match the following schools of philosophies

with their theones :
a. Sankhya 1. Predetermined fate
theory

b. Vaisheshika II. World was formed by the
blending of nature

c. Lokayata III Considered Atom as
basis of the world

d. Ajivika IV. Advocated materialistic
| ~ ideology

Choose the correct answer using the codes

given below : :

a b c d
(1) 1II v I I11
(2} II I AY I
3 Iv I 11 I

@ m v 1
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10. Hathigumpha inseription of Khar
the details of irrigation facilitieg
the Kalinga Region by

11.

12,

(1)
(2)
(3}
(4)
Sel
Ins

1.

1L

111,

V.

(1)
(2)
(3)
(4)

(7)
10, PO TFRIHOD FHS0 KPOf rsodS

avela gave
provided in

Mahapadmanandg
Bimbisara
Ajatasatru

Ashoka -

ect the correct statements regarding the
criptions of Ashoka

They are in Brahmi, Kharosthi
and Aramaic scripts, bl Gtk

The Monarch’s name \a:aa ment;
Ashoka only in Maski it
inscriptions.

The XIII Rock edict mentioned the

names of the five Greek Rulers as his
contemporaries,

and Gurjara

The IV and V edicts mentioned the war
of succession with his brothers.

I, II and III only
11, I1I and IV only
I, IIT and IV only
I, 11 and IV only

Match the following books with their authors :

a.

Prajnaparamita I. Acharya Kundakunda

b. Samayasara  II. Sarvavarma

c. Lilavati I11.Acharya Nagarjuna
Parinayam

d. Katantra IV. Kuthuhala
Vvakaranam

Choose the correct answer using the codes

given below :

a b e d

(1) 1 | I IV

(2) I I11 v I

(3) 1II 1 IV 11

(4) 1 I1 III IV
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13.

14,

15.

16.

Which of the following was not the feature of
the Guilds during the Gupta Period ?

(1) Minted Coins
(2)
(3)
(4)

Non-Autonomous Bodies
Maintained Armed Bodies
Worked as Bankers

The account of Greek (Yavana) invasion
during the reign of Pushyamitra Sunga is
available in :

1. Gargi - Samhita

II.  Patanjali - Mahabhashya

III. Kalidasa — Malavikagnimitra

IV. Visakhadatta — Mudrarakshasa
Choose the correct answer using the codes

given below :

(1) I,MandII

(2) II Il and IV

(3) LITandIV ,

(4" I 1l andIV

Choose the correct statement regarding

Nalanda - University at the time of

Harshavardana : :

(1) Harshavardana donated 10,000 villages
to the university.

(2) The number of teachers in the
university were 15,000.

(3) Silabhadra was thf: Chancellor of the
university. : .

(4) The medium of instruction was Pali.

Match the following taxes :

Name Tax |
a. Navidadere I. Taxon Marriage
[I. Tax on Barbers

b. Melivamsam

¢. Manevana [II. Tax on Ploughs

[V. Tax on Houses

d. Tudimeya
Choose the correct answer using the codes
given below :
a b - e d
(1) 1II I11 IV I .
2y 1II IV IH. =
3 I ITI v I1
(4) IV 11 1 III

(8]
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17.

18.

19.

Arrange the fullﬂwing L'EI“DIEH
chronological order according g
construction :

1. Ravan ki Khai
[. Kailasanatha
1. Dashavatara
1v. Dumar Lena

of EI].['II'H_ n
their time of

Choose the correct answer using the
given below :

() LIV, IL 1
@ I I, IV, 11
(3) I, IV, II
) ILIV,IL I

codes

p—

Match the following terms wit their
meaning related to village administration of
the Cholas :

a. Variyam I.
b. Kudumba

¢. Kudavolai

Ward
IL. Lottery system

III. Member of the village
assembly '
d. Perumakkal IV. Committee system

Choose. the correct answer using the Eﬂd:E-E
given below :

a b ¢ d
M NI m I
@ 0 m 1 W
@ IV I g M
@ 1 v m

Which of the following highways existed

during the rule of Kakatiyas ?

I Orugallu - Tripuranthakam — Nellore

II. Dwarasamudra — Ballari - Orugallu

III.  Motupalli - Tripuranthakam — Ballari

IV. Palnadu - Nalgonda — Nekarikallu -
Orugallu

Choose the correct answer using the codes
given below : '

(1) TandIIonly
(2) Il and III only
(3) III and IV only
(4) Iand IV only

(9)
17.

18.

19.

D

38 doe Terosy RO
gerdofeom (50 ST e300TOND

Do ToRod :
[ o 8 pd®
I 3UNTE
. &7a&0

V. &b 8 ,,
AHS as52aS Fhod GHariod D0

ASPER), JothEos :
() ILIV, I, 1
@ LILIV,II
(3) II,I,IV,II
(4) LIV, ILI

She [med HBareds S020H0AS (508
Srrers T8 efoed 2 Hhdn :

a. Ilale V) Ii J'@ .
b. SoénoD 1. eré&dd HQe
¢. HETSS I [IPedd &2 DEDgcs

d DONHS IV, E0eS 5559
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a B B d
(1 IV I 110 G
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@ W 1 I I
4) I IV m
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L1 A806e - I BHT0SE0 - BT
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1) IS0 II Sr|edsh

(2)  II 08050 I S(ehadh

(8) I 5805 IV SrdH

(4) 15805 IV M



21.

22,

. (2) Venkatapati Raya Il

L Mﬂnﬂtheiam

IL  Asceticiem

I1I. Religious tolerance

IV, i
Accepted the idol worship to some extent

C.hnase the correct
given below -

(1) I, II and III only
(2) 1L, Il and IV only
(3) I, III and IV only
(4) L 1Tand IVonly

answer using the codes

Choose the incorrect pair regarding the ﬂ:rreign.
chronicles of the Vijayanagara Period :

(1) Abdur Razzaq - Described the
conditions during
the reign of
Devaraya II

(2} Domingo Paes - Described
the rule of Krishna
Devaraya

(3)  Caesar Frederick — Wrote about the
conditions of
Vijayanagara after
the battle of
Rakshasa Tangadi

(4) Nikitin — Visited during the

reign of Achyuta
Devaraya

The Vijayanagra ruler who permitted Jesuits
to build churches at Nellore and Chandragiri

was

(1) Devaraya II

(3) ‘Thirumala Raya I

21.

22,

(4) Sadasiva Raya II

L.
II.

I11.
IV.

0]
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23.

25.

Which of the following incidents took place

during the reign of J ahangir ?
[ The fifth Sikh Guru, Arjan Dey
sentenced to death

. Victroy over Rajputs of Mewar
1. Annexation of Kabul and Kandahay

1v. Arrival of English East India Company
to India

was

Choose the correct answer using the codes
given below :

(1) 1,1 and IIl only
(2) 11, III and IV only
(3) 1, IIIand IV only
(4) I, Il and IV only

Match the following revenue officials during
the reign of Akbar with their duties :

a. Amalguzar 1. Kept records of the
revenue payable by the
villages

b. Karkuns II. Revenue Collector

: in-charge of a District
¢. Qanungo II1. Accountant

d. Bitikchi IV. Prepared the seasonal
crop statistics

Choose the correct answer using the codes
given below : :

a b c d

(1) 1II IV I I1
(2) 1II Y 111 I
(3) IV I [ I
(4) 1II I IV IT

The longest Trunk - Road constructed by
Shershah which still exists is

(1)
(2)
(3)
(4)

Agra to Burhanpur
Indus to Sonargaon

Agra to Chittor
Lahore to Multan

(11

23.

25.
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Py § el
26. Match the following books with their |26 telela D850 A e
authors : 5,_;53;)&&}1.’5‘ =8 & o0 QO
a. India at the Death 1. Irfan Habib a. ROBAT SEOBE L FA L]
of Akbar @D @8)b s s
b. The Agrarian II. Frangois Bernier p. & gLﬁ&dﬁJﬁ “J’gij 1. ; gﬁ:ﬁ
System of Mughal a8 Sord RO J
-i::.dia' 1556 - 1707 1566 — 1707
C. avels in the . Wilhi Foste
Mogul sE:ll:lﬂ.;:nire: L WD o & Lﬂ?ﬁé'ﬁ ad & aﬂmé i ;g?)&
AD 1656 — 1668 JoRb:
d. Early Travels in IV. Moreland 8.4, 1656 - : W FHob
g b eraS)ad y, Srdo0

27.

India, 1583 - 1619
Choose the correct answer using the codes

given below :

a b c d
(1) IV ITI II I
(2) - III I IV II
(3) IV I II ITI
(4) II. IV II1 I

The fn]Iuwing historian _contended that
Taj Mahal is a combination of European and

Asiatic genius :

(1) Ralph Fitch
(2) Tavernier
(3) V.A.Smith
(4) Fergusson

Match the following with the ye'nr they
were formulated :

a. Famine Code
b. Vernacular Press Act
e. Charles Wood’s Despatch on  IIL

Education
d. 15t Factory Act IV. 1854

Choose the correct- answer using the codes
given below :

I. 1881
II. 1878
1883

a b L d
(1) III IV II I
2 1 I v 111
(3 IV 111 1 II
I

(4) III II

aodcﬁ? 1583 — 1619
AkS @ bs SHoS anarhod $5BS

HIrTR) OB :
c d

a b _
(1) IV 1II II I
(2) III % I IT
3y IV 1 1I I
(4 I IV I I
27. 808 GOSTHG TE oS oB,
esSasre HE soons &d =& ) 0
(1) Od) PV ‘
2 er38)05%5
(8) Do) B
(4) HIS -
28. (806 &8 wd e80DodS
HoSS 500" 236 HBOTV !
a 59 SB 1 1881
b, RS era S| 35T PO 1. 1878
e DS o el
5;:}15 B III. 1883
IV. 1854

d. Budsed arEd oo
| BHS adsads Ehocd GHEriod JBS

HAFTR) D0HE 0

. a b c d

() m Iv I I

2 I ) SR o A 1
(3 IV I I II
¢4) I I v I



29.

30.

arrange the following incidents of Rebellion
against East India Company in the State of
H,_.derahad in chronological order

I. Attack of Turrebaz Khan on British
Residence in Hyderabad '

11. Imprisonment of Mubariz-ud-Daula in
Golkonda Fort

[II. In Aurangabad, Ist Caﬁﬂngeht Cavalry

was suspected, disarmed and arrested

IV. The rebellion of Raja Venkatappa

Nayaka of Shorapur
Choose the correct answer using the codes
given below :
(1) IV,ILILII
(2) ILIILLIV
(3) IILIILIV
(4) I,IIIV,III

Match the following Presidents of Indian
National Congress with their meetings :
a. Dadabhai Naoroji 1. Madras— 1887

b. Badruddin Tyabji  II. Bombay - 1889

I11. Allahabad — 1888

¢c. George Yule

d. William Wedderburn IV. Calcutta — 1886

Choose the correct answer using the codes
given below :

a b C d
(1) I I I II
(2 1 1 v I
@ v I m I
(4 1M 1 m v

(13 )
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31.

32.

33.

Constitution, Polity, Social Justice and

"II. NGT is bound by the procedure laid

Part B

International Relations

Which of the following is not a function of the

Union Public Service Commission (UPSC) ?

(1)  Conduct examinations for appointments
to the services of the Union

(2)  Consultation on all disciplinary matters

{3} Method of recruitment

(4} Manner of reservation

Which of the following subjects are listed in

th : 7
the 11* Schedule ? 99,

I Women and Child Development

II. Public Distribution System

III. Libraries

IV, ‘Slum Improvement and Upgradation
V.  Markets and Fairs | '

Choose the correct answer using the codes
given below :

(1) I IandV

(2) I, II, IIT and IV
(3) I,IIIIandV
(4) All of the above

Which of the following sl:at._éments is/are

correct about the National Green Tribunal ? 33.

L. It was set'up under the National Green
Tribunal Act, 2010,

down under the Code of Civil Procedure,

1908.
[II. NGT has six places of sitting throughout

the country.
Choose the correct answer using the codes

given below :

(1) Ionly

(2) IIand III only
(3) IandlIlonly
(4) I, IIandIIT
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g4, With reference to the Protection of Human 34,
Rights (Amendment) Act, 2019, consider the
following statements about National Human
Rights Commission (NHRC) :

.  Judge of the Supreme Court can now be
appointed as  Chairperson of the
Commission.

1. Term of the Chairperson and members
shall be three years.

I1L. Chairperson and members shall be
eligible for re-appointment.

Which of the above statements is/are correct ?

{1) Iand]Il only

(2) II and III only

(3) I,II and III

(4) Ionly

35. With reference to the National Commission for 35.

Minorities, consider the following statements :

L It was set up -under the National
Commission for Minorities Act, 1992,

II. Ministry of Welfare has notified five
religious communities under “Minority”
status, to date.

III. It can make recommendations for the
effective impiementatiun of safeguards
for the protection of minorities by
Central or State Governments.

Which of the above statements are correct ?
(1} Iand II only

(2)  II and IIT only

(3) 1,1 and III

(4) I and III only
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36.

37.

38,

39.

Recently, the term ‘Chicago Convention' is|386.

frequently seen in the news. Which of the
following sector is it associated with ?

(1} Carbon Capture

(2} Civil Aviation

(31 Merchant Shipping

(47 Chlorofluorocarbons

With  reference to the Competition 47
Commission of India, consider the following ™"
statements ;

I It is a statutory body established under
Competition Act, 2002 as amended by
the Competition (Amendment) Act,
2007,

II. It consists of a chairperson and five
members appointed by the Central

Government. ,
Which of the above statements is/are correct 7
(1) Tonly
(2) Il only
(3) BothlandlIl
{4)  Neither I nor II g .
3B.

National Bank for Agriculture and Rural|
Development (NABARD) was established on
the recommendation of which of the following

Committee 7
{1} Sivaraman Committee

(2} Santhanam Committee

(3) Sarkaria Committee '
39,

(4) Rajamannar Committee

“World Competitiveness Index’ is released by
which of the following organizations ?

(1) Institute for Management Development
(2) United Nations Development Programme

(3) World Economic Forum

(4) World Bank
40.

Kautilya categorizes the Governments and
Heads of Departmenis into 18 tirthas.

Amongst these “Dandapala” is the

(1) Magistrate .
(2) Chief Council of !i-!_[ini_stries

(2)  Officer of the Army Department
(4) Guardian of the Forts
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41.

42.

43,

which of the following statene

nis '.I$ e
res PE'I:I- to th i rrect

with State  Finance

r"mmi:’:siﬂﬂ 7,
It is required Lo appoint 4 State
Commission once in five vears

1. It recommends the determination of
taxes. duties, tolls and fees assigned to

the Panchayats and Municipalities

Article 243 deals with constitution of

finance commission to review financial
position of Panchayats,

Choose the correct answer using the codes

Finance

111.

given below :

(1) 11, III and IV
2y 1,11 and III

(3) landIl

(4)  All of the above

Which of the following Amendment(s)

provide(s) for reservation in jobs and
admissions ? '

(1) 77th

(2). s2nd

(3) 81 :

(4)  All of the above .

Consider the following Assertion (A) and
Reason (R) and choose the correct code :

Assertion (A} : '
The President is the executive power of the
Union.

Reason (R) :
The executive power of the Union shall be
vested in the President and shall be
exercised by him either directly or through
officers subordinate to him in accordance
with the Constitution.

Code :

Both (A) and (R) are true and (R) is the

(

v correct explanation of (A).

(2)  Both (A) and (R) are true, hut (R) is not
the correct explanation of tA).

31 (Ais trﬁe. but (R) is false.

(4)  (A)is false, but (R)is true.

(17
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43.

(1)

(e]

o9 e HosrdE  Ho2ohod ol

HELSOS” IO HBSE ?

[ oB%% a.5ard U e05 H0OTH,,
NoHaoiTe) ) Gotnodl.

L 50008, S0 )rdedos SEronotd

Sy en, osen, E'Sen, GrdnNean

DGON0BRoR 2O V) TBROO.

Aoorchee ehd HERBD

558 05EFR8 Horonsw el S

2°S,) EDAM DTN es05S 243

DIONOH.

5% 2S00 ThodH GITIrNod OB

1L

DIFETR) oS !
(1) I, 11 sHBosm IV

(2) I 11000k II

(8) 10805 Il

4) DIV
&Esren,e®nsd 0a0s ©Fdo 80d
J388(0)S IO S80H ?
(1) 77

(2) 82

(3) 8lad

(4) . DIV

806 HyN¥de (A) Bk s8@mo (R)
HBHBo0B. BB FED JoEod :

Sd8e (A) :
Tlane  durddbe SO0 iarS
eosS0 OB Jotr.

5*Jeo (R) :
[ W ATOWIN T o TN o)L 04 SR - Tt T

laaed adiadm&od.  oETolio
WH5do Fm Vo &S ©dI0S” &)
©OTHO 740" @D BN,

3‘&1‘.::: -

(A), (R) BOGY d20 (R) @O (A5

QD DeIGED. :

(2)  (A), (R) Bodr dzc, v (R) O
(A0 DB DSBE TR,

(3)  (A) D@0, 5% (R) ..

(4)  (A) S, 3R (R) 0.



GS/1G/100

44.

ﬁl

Which of the following statements related to
the Central Administrative Tribunal are
correct 7

L; It is a statutory body.

II. Its members are drawn from

administrative background only.

HL. It is not bound by the procedure
prescribed in the Code of Civil
Procedure.

IV. Its jurisdiction covers the members of
All-India services as well as Central
services and Central Government posts.

V. It was set up in 1985.

Choose the correct answer using the codes
given below :

(1) 1L IandV
(2) IandIV

(3) LIILIVandV
(4) IIand III

Which of the following statements is nof one
of the powers of the Speaker of the Legislative

Assembly ?
(1) He has no veto except in case of a tie.

(2) A Speaker may be removed from office
by a resolution of the Assembly passed
by a majority of all the then members of
the Assembly after fourteen days notice
of the intention to move such a

resolution.

(3) The Speaker vacates his office if he
ceases to be a member of the Assembly.

(4) The Speaker will preside when a
resolution for his removal from office is

(18]

under consideration of the Assembly.
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417.

wers of the Election Commisaion

. clude which of the following ?
in

I The Election Commission takes

decisions on every aspect of conduet and
control  of  elections  from  the
announcement of elections to the
declaration of results.

[I. During the election period, the Election
Commission can order the Government
to dismiss some government officials,

1. When on election duty, Government
officers work under the control of the
Election Commission.

Choose the correct answer using the codes
given below :

(1) 1and II only

(2) IandIII only

(3) Ionmly

(4) All of the above

What isfare the provision(s) to safeguard the
autonomy of the Supreme Court of India ?

I. While appointing the Supreme Court
Judges, the President of India has to
consult the Chief Justice of India.

II. The Supreme Court Judges can be
removed by the Chief Justice of India

only.

III. The salaries of the Judges are charged on
the Consolidated Fund of India on which

the legislature does not have to vote.

Which of the statements given above is/are
correct ?

(1) IandIIl only
(2) IandIIonly
(3) III only

(4) 1,II and III

(19)
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48.  Which of the following are not included in the

49.

_ given below :
(1) Iand II only
(2) Il and III only
(3) Iand Il only
(4)  All of the above

original jurisdiction of the Supreme Court ?

1. A dispute between two or more States,

IL A dispute regarding clections to either

House of the Parliament or that of
Legislature of a State,

1. A dispute between the Government of
India and a Union Territory.
IV. A dispute between the Government of

India and one or more States.

Choose the correct answer using the codes

given below :

(1) JTandll

(2 1l and lII

(3) landIV

(4) III and IV

The National Commission for E;:heduled

Castes, while investigating any matter or
inquiring into any complaint, has the powers
on the following matters :

1. Tt can receive evidences on affidavits.

II. It can requisition any public record from |

any court or office.

[II. It can issue summons for the
examination of witnesses and
documents.

Choose the correct answer using the codes

{ 20)
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50.

51!

Consider the following Assertion {A) and
Reason (R) and choose the correct code -
Assertion (A) :
The Parliament of India consists of the
President and two Houses.
Reason (R} :

The President is a part of the legislature
even though he does not sit in Parliament
except for the purpose of delivering his
opening address,

Code:

(1) Both (A) and (R) are true and (R) is the

correct explanation of (A).

Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(A) is true, but (R) is false,
(A) is false, but (R) is true.

(2)

(3)
(4)

Which of the following are among the
Fundamental Duties _n::-f citizens laid down in
the Indian Constitution 7

I. To protect the weaker sections from
social injustice.

II. To develop scientific temper and spirit of

inguiry. ¥

To preserve the rich heritage of our

composite culture.

IV. To safeguard public property and adjure
violence. o

I11.

Which of the statements given above are
correct ?

(1) II and III only
(2) Iand III only

(3) IL, III and IV

(4)  All of the above -

{21)
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{22 )
8. Which of the following entries of the Indian
Constitution deals with the institutions for
scientific or technical education financed by
the Government of India, wholly or in part, |-
and declared by Parliament, by law to be
institutions of national importance ?
(1) Entry 64
(2)  Entry 63
(3} Entry 65
4} Entry 66
23, Who said “India is not a nation in the
traditional western sense but a comprehensive
culture of continental scope compounded -of a
very large number of linguistic and religious
entities, highly complex and often strongly
antagonistic local cultures” 7
(1)  Carl Friedrich
(2) PH. Appleby
(3)  Woodrow Wilson
(4)  Jawaharlal Nehru
94. The Constitution confers which of the
following Articles that denies the rights to
aliens (Foreign Citizens) ?
% Articles 29 and 30
II.  Article 19
- III.  Articles 23 and 24
IV. Article 16

Choose the correct answer using the codes
given below : !

(1) II and III only
(2) I, II and IV only
IIT and IV only

All of the above

53.
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Consider the following statements -

| The Preamble was enacted before the
enactment of the entire Constitution.

1. The Preamble is a part of the
Constitution but has no legal effect
independently of other parts.

1. It is enforceble through Courts of Law,

1v. The Objectives Resolution by Jawaharlal

Nehru finally became the foundation for
the Preamble.

Which of the statements given above are
incorrect ? '

(1) Iand Il only

(2) Il and IV only
(3) IandIlIl only
(4) I II and IO only

Which of the following statement(s) is/are
correct ?

I. The PM CARES for Children Scheme
was launched by the Prime Minister of
India on 29t May, 2021 for the children.

It aims to support children who have
lost both the parents or legal guardians
or adoptive parents or surviving paren
to Covid-19 pandemic. -

Choose the correct answer using the codes
given below :

(1) BothIandlII

(2) Neither I nor II

(3) Tonly

(4) II only

IT.

With child labour being made illegal and right
to education becoming a fundamental right for
children, this right against exploitation has
become more meaningful.

Which of the following pairs of Articles provide
for right to education and prohibition of child
labour respectively 7

(1) Articles 21A and 23
(2)  Articles 21A and 24
(3) Articles 23 and 24

(4)  Articles 14 and 19

(23)
65.

67.

TeTA N P IAIN BTN VIPS Ta gl o THTaTs

1. 5,88 J0edo 2 iono es e 8
S AN0E ArSrofiodizaBod.

6. 8% grarsofiads 2,8 erfio 50 @ess
z,j*ﬂ‘f_}eg IGO0 B0
MG e 22T00 OB,

11.

L @b S ohefare o7 507 @900
Socoenods,

W, 2556 BT oF o G150
N&55 HBE5 T om Srbob.

236 RIS (DELGES DO Sy 7
1) 150805 11 &r(édsh

@ I 2HBasH TV Sriebah

(3) I S08ckw [ Sriedad

(4) I, 1I 38050 11T Sredah

208 |HEGSOS DB/ JDIHE ?

L areres 90 5.00. 86 525550 29 D,
202105 27868 DT [FrdodoTd.

£085-19 Hoirhr0 sdaom
S$DSo|chen Bor SO
HOBE Boen B e S0y
S$Oeso|chen B £DoD &S
SO Sothed EShond hueds
08 Bd 380 O ©F 0.

&N BH0BS FHS GIHWrfodD) JBS
RETETeTR), otHT o :

(1) I08akwI1lBodr

(2) I obacin 11 Doder s7e

(3) I3reD

(4) I &(esTh

e s88 5550 SHdHPo T[ado,
ST o S = D R T TS T T P e FA - R 0o b5 T g
Srddod, SHdd Jiadsor & IE
0806 ewdlodomr Sr00d,

o8 o =eh Eharen SO Jorg TH0Y.,
2°e) 578500 VTR WOOCw ?

(1 @QES 214 HOckw 23

(2) @85S 21A SO 24

3)  esD5S 23 OO0 24

(4)  esES 14 Hbc 19

11.



59.

I. {'%ST will bring more transparency to
direct tax laws,

GST was the
Amendment Bill
Parliament,

122nd Constitutional
introduced in the

IIIL. GSTis a destination-based tax.

Which of the statements given above

isfare
correct 7

(1) T and II only

(2} I only

(3)  II and III only

(4) L II and III

Which of the bodies recommends the

distribution of the net proceeds of taxes to be
shared between the Centre and the States,
and allocation between the States, the
respective shares of such proceeds ?

(1)  NITI Aayog
(2) Finance Commission of India
(3) Inter State Council

(4)  National Development Council

Which of the following is nof the function
of the National Commission for Scheduled
Castes ?

(1) Providing constitutional protection to
Scheduled Castes.

(2) _
Minister related to the protection of

Scheduled Castes.

To investigate any case that violates the
interests of Scheduled Castes.

(3)

(4) None of the above

59.

To submit the report to the Prime|

208,28 Jowos0d 808 D¥SeR
DONBoSod -

L #0068 Deégg a8
N0 GG bk BNOB.

208 oS & (HBFDGS
1225 overson Hedtsea Hex,

M. £.9.68. o6 o e s H%).
2 DI DELSOS DO DBIAHTID ?
(1) Teo8osn II Sr|ehad

(2) I Seesad _

(8) 1T 5805w III Sr(edah

(4) I, 119605 III

INTAY YA

II.

Bo|gSo, Tr{re Sucss DOLHET OIS Hdne

N30 eordird) Hodd Totred, olre
DG;  Berowodew, @ensotd  omd
VOWVORS  TEFOD D - HoDd )
Do ?

(1) S erh

(2)  2rde &88 HSoMmo

3) ®osT|R MHoEd

4) 280D ©DIYO Hodd

$08 &8S 8 ErsS Here 2e3 0%
Soladm 8 0% 7 -

1 D&Y Soered oersol  B%e
5D o0,

AETY Soerer BE ek ROVOBODY
DIOED (DETHDH0|BE QeDByoBS0,

AEPED . Here DT
GROWOT BT T Sovsey
Daso.

Do 5

(2)

(3)

(4)
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Indian and Andhra Pradesh

61.

{ 25 }

Part

E
Pl ﬂl'lni‘ng “““ﬂmy and

Apex Council of Godavari ang Krishna river
water resources and theiy
consists of

(1)

management

Minister of Water

Resource
Government of India as -::hairperz:n nn?:i

Ministers of Irrigation of both
An
Pradesh and Telangana ag memhar;lhﬂ
P:-i:‘ne Minister, Government of India as
chairperson and Ministers of Irrigation
Pradesh and Telangana

(2)

as members.

Minister of Water Resources,
Government of India as chairperson and
Ministers of Revenue of both Andhra
Pradesh and Telangana as members.

Minister of Water Tresources,
Government of India as chairperson and
Chief Ministers of Andhra Pradesh and
Telangana as members. '

(3)

4)

Government of Andhra Pradesh is
implementing YSR Rythu Bharosa—PM
Kisan Scheme for the benefit of farmers of

Andhra Pradesh.

Which of the following statements are correct
about the above scheme ?

(1) = 13,500 is given to a farmer's family in

three instalments every year.

(2) <7000 is given by Government of
Andhra Pradesh and ¥ 6,000 is given by

the Government of India.

¥ 6,000 is given by Government of
Andhra Pradesh and ¥ 7,000 is given by
the Government of India.

(3)

(4) ¥ 13,000 is given to a farmer’s family in

four instalments every year.

61.

(1

62.

(0]
a0 C

aoBchHS wod eol® DTE I 905

arQoh

R0, Soar OO A3 Sdten, ared D 1o
@DE) TS &

arddd (DEDSS BOSSGhL DoE 36
HEST, ol 1507, Booms: Dok

oo  ABTHoe T Hod
HEHBFENTT SO,

rOed |DENBS (DTIH0IB JE S,
ol |DB%, B8worsr Bodk oare
ABTHGoL  TD No@  HHeomr
GO an.

G (DEhéds BOSIhe Nod 35
DEYS ™, SsOBDBE, SBoorw
Bododd OTS BATTEATSY
DZDLENTT SHOETED. ;
DODE IR 2786 D20 2erSSte
ol@,  Dhgewr wooHTs,
SBOOMED 0B 0| hew,

(2)

(3)

(4)

WOHIDTT  |DZhedo woIHNHTT Do
DTra2mre FHo Bobh.ab By 38> -
DO, §S HHTA) eHhen TFosd.

D dPgo HBod L0 PBEvdes 26
B TeINTa Y,

(1) ¥ 13,500 2§ B Henoz§ (98
CDoISBo Srd  Tonood
Qo §23C0eR0E0.

T 7,000 &30 (DT 1D 50, T 6,000
&rdeh | HEd 0 ®obiaod.

T 6,000 &0|S) |HTF |DTS 50, T 7,000
2rSes |DHED [0 ©®oHNoh.

T 13,000 2% B Hoewowrds (Ha

HoSéydo  mrentd  Trongreds
Qe 228068000,

(2)

(3)

(4)
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63. e A ]
i:lmfe:;fl ﬁ;rw:;;f welfare programmes |63, eso(3HT5 (HAS SO @?;vg‘@ﬁu;
Pradesh is not P;irt of r";'ln:.mgm, a5 b S8 Mo L

| avaratnalu, SHGeEred’ griio $O).
(1) Hmmmg for all Poor (1) "f_}ﬂfjﬂﬂﬂf}ﬂg D
(2) Y8R Jala Yagnam (2) B.I0.e5. 230 00NFO
(3)  Aarogyasri (3) &;Efﬁgé |
(4)  Vahana Mitra @) S Dol

64. The following App developed by Government | 64- 'HUL‘:&L;Ja'g 1DHEHES 50 @ﬁj;ﬁt}gl Do Sob
of Andhra Pradesh is an S08 service for aird edHd o Lﬁé?{ﬁﬂg B) VT T
women in distress or danger. §0 2.8 0400, R
(1)  Spandana (1) DY /

(2)  Bharosa (2) ZE>
(3)  Disha (3) o
(4} Prajwala (4) |25

65. The CCRC introduced by Government of|65 @OISINTT (Hhe g0 1HTFDES D18

Andhra Pradesh stands for ®od
(1) Crop Certification Residue Control to (D OIOCH S5SRATRY H9DEB0BERE
certify organie farming, HOtY G856 wSiare RGO b,
(2) Crop  Cultivation  Registration on (2) rgofh dmo §Ho Franed I
'I.‘Jertlﬁr:ate for pledging lands for bank ' RHEVE HEHEE D Do D ST
oan. 5 .
(3) Foirdodv SFaho DododaDE

(3)  Crop Cultivator Rights Card for
providing assistance to lease-holders,
(4) None of the above

208 T TrEose 5,
(4) ) 5Y

66. Areawise, which of the following districts of 86. lromozom, BOIGHTFSD o0& EQ‘#}?

Andhra Pradesh is the smallest 7 i ;}tﬁ AT

(1)  Parvathipuram Manyam (1) JEIBHS0 S0
(2) Palnadu : ' (2) Derych

(3) Annamayya . : (3) L 5350085

(4) Kurnool @  SSryen

67. Who among the following is a heavyweight 67. . g2q8 S8

weightlifting champion who hails from Andhra BORDTTH oS

Pradesh ? OB TS DPOR TroohS S5 2
(1) Sathish Sivalingam | [.1} S 3S5Doro

(2) Kunjarani Devi (2) Svozorsd B0

(3) Dhruva Chakravarthi @) D ESO

(4) Dandamudi Rajagopal Rao ' (4) &Soddrd oaifardS oy
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(27) @
ga. Given below are two Stalements, gne labelled | g8. Lg.;:..f; Glelay Gﬁgm&ﬂ] D $C50 20Roa), 2.5¢3
as Assertion (A) and the other lﬂhE]lEd as C:J agjgfflﬁl (A)SHT, 5&)5“5&3 T{jm (Rirp 631]. ﬁ
Reason (R). Select your answer from the codes 002806, HIVD 2526 §Gey 04 5
iven below.
gIven DEIOw HAFPTTR), dotHEod.
Assertion (A) : .
| SDsdea (A) :
There is a structural change in the _
composition of Nationa] Income in India. wﬁéﬁ%aé‘ TS0 ©oaho 57865
Reason (R) : . ROERAIS S0 &Qﬂ.
The process of economic growth was | s°¢g0 (R) .
initiated in India. :
OSTIOS Q8 58 HEan
Codes: | ardodod.
(1) Both (A) and (R) are true and (R) is the FHex

- correct explanation for (A),

{2) Both (A) and (R) are true, but (R) is not| . - (1) (A) 00 (R) Bodr =0 SH8cm (R)
the correct explanation for (), OO (A)8 HBA A6,

3)  (A)is false, but (R) is true. (@ (A) DO (R) Bodr B0, 50 (R)8

(4)  (A)istrue, but (R) s false. (8) DB I8 $°C.
@) (A) &), % (R) dz0.

4) (A) d=z0, 50 (R) ).

The economist who said that the “Net Social _
Product and the Social Income are one and the |89 P50 rdrad &8)8, Tras emao

same thing” is - COdr 258" @ TS 6fi3S
(1)  Adam Smith | 1) esHNS

2) Alfre.d Marshall @) ©d Db SrgdS

(3) P.A. Samuelson | (3) Do) FHTSHS

H Beb
4)  JR.Hicks ) 2eb.58)
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70.

71.

T2.

{28 )

Given hﬂll:.rw are two statements, one labelled | 70,

as Assertion (A) and the other labelled as

Reason (R). Select your answer from the codes

given below.

Assertion (A) :
Per Capita Income decreases in a
developing country even though National
Income increases.

Reasgon (R) :
The rate of growth of population is higher
than the rate of growth of National Income.

Codes :

(1)  Both (A) and (R) are true, but (R) is not

the correct explanation for (A).
(2}  Both (A) and (R) are true and (R) is the
correct explanation for (A). :

(3) (A)is true, but (R) is false.

{(4) (A)is false, but (R) is true.

During which Five Year Plan was the rate

of growth of Gross Domestic Product the '

highest ?

(1) 9" Five Year Plan

(2) 10 Five Year Plan

(3) 11" Five Year Plan

(4) 120 Five Year Plan ;

T2,
Which of the following is not a feature of|"

MGNREGS ? |

I. Guaranteed minimum wage employment

II. Rights-based employment scheme

III. Generation of wage employment in rural
areas

IV. Provision of nutritious food

Choose the correct answer using the codes
given below :

(1) L IlandIV
(2) I,IIand IV
(3) 1ILIIl and IV
(4) I, Il and IIX

[B]

1Bod Bodh |Hferden Bd 50 20008, .53
Sondtm (Arr,  Soiged sdmo (R
TendS JohaBod. HNHS 335064 Tho
0d H HIroraR), dothtod.

E)DESeD (A) :

28Bah sorabo 2OASHISE ©DI0
Tohéndy S Sodd eooho
Sihebrodd.

S*Je20 (R) :
rdoh aorch S9O Gen 50T aTy
Db Bew JE0SHT GOl
%‘ﬁm 5
(1) (A) S8ciny (R) Dodr 20, 50 (R)
e (AR DS D 5.
(2) (A) HHBc (R) Dodr Q20 SBciin
(A (R) HBS DS 669
@ (A deo, SR (R) S,
(4) (A &3y, 3R (R) dz=0.
D HodSS Peds soos Ao
2O Tres )B SyOTen wé iS50 ad1d ?
(1) 95 DoIE |De s
(2) 105 HoISG DT
(3) 115 DO |DETPE
(4) 1235 HoSE |DHeTPE

& 2007 I B.IS b2
86050 5 B ?

I 255 TS5 aard 5%
I 58 %) 50308 HSEAW

I rone  |orodod Jssod SraAd
G B

IV. SFASSFEa0a) QaErd ey

50D ad2AS FhoH GHTrAoD 38D

HAFETER) SotHFod - -

(1) I, 1 obcin Iv

(2} I, I «08chn IV

(3) II, III o8 cSH IV

(4) I, II8d0% 11
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73

74.

15.

s i ﬂEE-lgl‘Dup of higher proportion of
working population required for Demographic
Dividend ?

() 15- 64 years

(2)
(3)
(4)

18 — 65 years
18 — 60 years
15 — 60 years

Which of the following are the objectives of
Beti Bachao, Beti Padhao ?

[ To provide legal assistance to girls

1. Toreduce decline in Child Sex Ratio

I1I.

V. Toremove gender inequality
Choose the correct answer using the codes

given below :

To encourage women empowerment

(1) I, 1land 111
(9) 11, 1IandIV
(3) I,1Iand v
(4) I, 1Iand IV

Given below are two atat,ameﬁts, one labelled
labelled as

as Assertion (A) arid the other
Reason (R). Select your answer from the codes

given below.
Assertion (A) !
National Income
fluctuations in Agricu
Reason (R} :
Weather conditions, ESPE‘:iﬂ“
ancertain in [ndia.

growth fluctuates with
lture gruwth in India.

y rains, are

Codes:
(1)

true and (R 18 the

(2)

(3)
(4)

(29)

73

74!-

75.

(o]

F3rDs (ol #50 BSOS FWNS
sy @GS D9 16 505D Y- NTO
20ed ?

15 — 64 {0e)e5 TN
18 - 65 D025 )T°EN
18 = 60 £09€5 )T
15 — B0 DO, )TN0

(1)
(2)
(3)
(4)

oS, B sos Of e
180 AFQS a7
[ rdio Trpa® AHFCHSNS0H00L
e ol 2535 § caed e SN0

[I T S EAC O (e )ar Ot

v. ©oi POV (S LOTNY Sofothe

Ak Bd5BS SHOW &30 OB
HAFCETION) dochTodk:

(1) 1,11 odak I

9) 1L, 111 oA IV

@) I, 1150005 IV

@ 1 IS0 IV

\80¢ Do ESEAREY ad580 a0hod. 2.5¢3
SadEse (A) ST LHFES oo (R
HonS Tohadod. B 255008 6o

508 & HIFTTR Jochsod.
G)DESea (A) -

rESTI0S $55RraD 308"
 2poysihed rHaH - e 59

235 15 POK0 HBPS0E.
5080 (R) :
FErssn DO, DO STen
2rdSEE0S BRSO BRI
EGen :
1) (&) SHBcsH (R) Dodr B0 O
(A8 (R) DD Ded O,

(A) OC» (R) Boar n=0, 5w (R)
T (A)8 HBS DHed T

(A) D20, S0 (R) S
(A) 3y, 5 (R) 020

(2)

(3)
(4)
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76.

8.

[ 30)
Match the following : T6.
List1 List I
a. Trade I.  Primary Sector
b. Water Supply 1. Service Sector

¢. Fisheries I11. Central Statiatical

Organisation

d. GDP IV. Industrial Sector

Choose the correct answer using the codes
given below :

a b c d
(1) 1II 1 v 111
(2) 1II IV 1 IIT
3y 1II 1 ITT v
(4) III I IV II

Which of the following is not included in the
National Income ?

Wages and Salaries

(1)

(2) Tax Revenue

(3) Interest Receipts from Public Debt
(4)  Profits of Public Sector Undertakings
Match the following :

List I List IT
a. lron and Steel I.  Perambur
Industry

b. Jute Industry II. Jamshedpur
¢. 0il Refinery ITI. Kolkata
d. Integral Coach IV. Barauni

Factory

Choose the correct answer using the codes
given below :

a b c d
(1) I 111 IV [
(2) III IV I 11
(3) IV I I I11
(4) III I IV 11

717.

[©]
& 800 TR 23éb TICTWIN
arde 1 arde 11
A SParsaD I |DréHans Goficin
b. 5He3 5058 II. T $0dd

¢ &oedys Hones I o HeTos SO

d. 282 IV. 8720 Sofio
&HS RS ES o GDHATH0D AT
DSFTR) DOTHEOS
a b c d
(1) 1II I IV II1
(2) I v I I1I
(3) II I 11 v
@9 m 1 v I

2AOTrToHoS TEIVG & (808 FAS'
I ?

(1)  FSSS0en So8ci0 Hedsnen

(2) D) esordihan

(3) 1DHZHSs 20030 HOA Sy A
Tr2achend

(4) oS00 DHoPe Lod SN
eFETEN

&3 1508 TR 238 Tasw :
ardler] ard)ee Il

a. B[, Ey DOFD 1. Sors

b. 258 HrS HOF 1. Ba&y0

c. Wk HR¥oIrESH 111, FSsz

d. DS Ben 5H IV. 289
Saird Somrrdsan

QDS 2AS508S Fherdh SITrAodD DB

RATETETR), JOHEOS :
a b e d

(1) 1II II1 v 1

(2) 1III IV 1 11

3 1v 11 1 111

(4) III I v II
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B1.

When the Central Bank increases the Cash
Reserve Ratio, it leads to

T Fall in money circulation,

II. Low demand for goods and services.
I1I. Rise in purchasing power of the people.
IV. Rise in bank’s lending capacity.

Choose the correct answer using the codes
given below :

(1) I, III and IV
(2) 1and Il only
(3) I, II and III
(4) I, IlandIV

Statutory Liquidity Ratio is to be maintained

by banks in the form of
E Cash.
II. Gold.

III. Unencumbered investments in specified
instruments.
IV. Priority sector loans.

Choose the correct answer using the codes
given below : .

(1) II,IIT and IV
(2) I, IIlandIV
(3) I,II and IV
(4) I,II and III

Gilt edged market comprises

(1) Treasury Bills and Government Bond
Market.

(2) Mutual Fund Market.
(3) Derivatives Market.
(4) Capital Market.

(31}

T9.

B]I

(0]

ol 2rofy AN Desges DHIDD
BodSH 2016

I. 1£5655 TheTaed éthehnd,
I 58 Do Aot éiharos,

1. Hze Foffen dsdio hobhaos,

V. erosfue €95) JONTS ) s
D00,

BHS aHRES FhON SITrAiod HBS

HIFoT) dothTod

(1) 1, 1II Sodain IV

(2) 1 S00cin II &Sriedad

3) I, 11 S6cs» 111

(4) I, 1108050 IV

SaGRS 518 D18 arjofoen &
drnoss dEseromd

I &S,
II. 20mdadw.
II. DTS S ardo B DePadoen.

IV. |2grased Somredo 2ameren.
DS WS 1225 FhHoD SOHTrAoD HBS

NSAPEETR), dothFod
(1) II, T 20805 IV
(2) I, I 08050 IV
(3) I, 1I S08akw IV

(4) I, 11 S80S I

AG I & S80S 2B &S

(1) ey DHevewn, |HEd L 2ol SrDzen.
(2)  BrgsSS Dok SrByew.

(3) @édyTrye SrB)éew.

(4)  Sredsd 1By en.



82. Non-Performing Asset as per the current|82.
banking norms is

(1) A loan which is due during the last
90 days.

(2) A loan whose instalment of principal
and interest amount has remained
overdue for a period of 90 days.

(3) A loan whose instalment of principal
amount is overdue for a period of
90 days.

(4) A loan whose instalment of interest|g83.
amount is overdue for a period of
90 days.

AR. Name of the committee on Indian banking ﬂ.l?.li'
financial sector reforms constituted by the
Government of India in 1991 is
(1) Suresh Tendulkar Committee
(2) Committee on Financial Stability
(2) Committee on Financial System: a4,
(4) Raja J. Chelliah Committee

g4, Para Banking Services include the following :

I. Credit card business

II. Insurance business

[II. Credit to para military personnel
IV. Factoring services i

Choose the correct answer using the codes
given below :

(1) I, Il andIV
(2) IL III and IV
(3) I, IIland]IIl

(4) L III and IV

(0]

5&pes 2rofh AoHSL Dsdan  ABGE

@370 DT

(1) Aéb 90 BarerdS TredertIed 20EID.

2 90 Omok DG (D a08S
20E0503) ODEN TN, 5.

@) 90 OTofh pad (i D08
ZAVED AN EDAIEN TONCT.

4 B 90 OTOE FIOVD 20T

356

19915 2r8eh  |DISIO  DTHEV T eed
arSBch ersofol, @ff dof HoHSw
E20es Do

(1) Jo0n Bodre)d

(2) RS DS E0e8
(8) DTRAOHRS DY E20ed
(4) oOrzr B Dojohs el

Jor 2rofofi RIS & 1806 awd
FOLFrQ)

L (3648 @ Fiardan

I Ddr Syrdsn

L o OO0 1233068 20D 8
IV. 3008 ™den

BHS S DAS FBOD GHBrAOD KB
DAFETR) dohTod

(1) I II:00Cn IV
(2) 11, III 80 IV
(3) | I, IT So8cin I
(4) I, I Sodain 1V

S e
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85.

B6.

Given below are two statements, one labelled
as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes

given below.

Assertion (A):
Goods and Services Tax (GST) introduced
in 2017 is non-inflationary.

Reason (R) :
GST system avoids tax-on-tax.

Codes :

(1) Both (A) and (R) are true and (R) is the
correct explanation for (A).

Both (A) and (R) are true, but (R) is not

(2) :
the correct explanation for (A).
(3) Both (A) and (R) are false.

) (A)is false, but (R) is true.

Match the following :

List I List IT
a. 10" Finance [I. C.Rangarajan
Commission . wij
b. 11" Finance II. K.C.Pant
Commission

e. 12" Finance
Commission
d. 13* Finance

Commission

-

I1I. Vijay L. Kelkar

IV. AM. I:ﬂ'n_lsm

Choose the correct answer using the codes
given below :

a b c d
(1) II I IV 111
(2) I IV I III
3 W 1 m 1
4) I v I 11

{33)

85.

(]

Bods Dotk (D5exden D560 aihod. 2,563
HanEGe (A) ST, T3 sbmo (R
Fend Sohadod. &S asbs ThHhe
08 S ST TR, ORE .
DD (A) .
20175 H0SS60E" | HBEBS  SD
356> Dk 1695705 Barehaiun.
sOe20 (R) :
530 DI D), A0S’ DA D D)
= Tolalmv]

£8en :

(1) (A) HOAW (R) Bodr o SO0
(A)8 (R) 3B DS Gev.

(A) SHBasH (R) Bods dzo, 52 (R)
@O (A)E DD DaHdea &0,

(A) D20, 570 (R) S333.
(A) 333, 5°~ (R) dzso.

(2)

(3)
(4)

& 1808 QR B&STOIWW :
ardlas |

a. 105 ed8 xm@'.:,m 1.
b. 115 es% Hosvaaw 11
c. 1225 es®8 Hoaw

arde I
o). Soloraa
2.0 Hod

dach 28,
B85
d. 135 @08 HoMadw  IV. Q.. ao|d’

111,

&S @B 58S FHON SHTNoD HBS

DIFTTR), JotRE o ;

a b C d
(1) 11 I v 111
(2) 1I AT | 111
3y IV II 111 1
(4) I v I 111



GS/1G/100 [34)
87. Given below are two statements, one labelled | g7.
as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes
given below,
Assertion (A) :
Budget Deficit financed by printing
currency will lead to price rise.
Reason (R) :
More goods will be produced in the economy.
Codes:
(1)  Both (A) and (R) are false.
(2) (A) is true, but (R) is not the correct
explanation of (A).
(3) Both (A) and (R) are true.
(4) Both (A) and (R) are true and (R) is the
correct explanation of (A).
88. Part V of the Andhra Pradesh Reorganisation
Act deals with
(1) High Court. 88.
(2) Apportionment of Assets and Liabilities.
(3) Authorisation of Expenditure and
Distribution of Revenues,
(4) Management and Development of Water
Resources. '
89, Polavaram Projectis a 89,
(1) State Project funded by the Central
Government. .
(2) State Project funded by funds of the
State of Andhra Pradesh.
(3) State Project funded by the States of
Andhra Pradesh and Telangana.
(4) National Project.
9. How many Schedules are there in the Andhra re:

Pradesh Reorganisation Act ?
(1) 13 Schedules
(2) 14 Schedules
(3) 15 Schedules
(4) 16 Schedules

(o]

180 Bodh |HEESEN QD FB0 20008, 2583
B9H88e0 (A) s, HBES sOL0  (Rr
HondS Schndod. HHS aspds b
508 B HIrerTd) JotHEB.
&)adSen (A) :
2TenStnd 8D BN PEI®
Se3es Sfen ih o,
s*ieao (R) :
@88 33350 HO) SWeYew ¢réd e
SohadsEaw.

5‘5&13 -

(1) (A) B0 (R) D& ¢33,

(2) (A) Qz0, 52 (R) @IO (AE TS
DeSe S°E.

(8) (A)0Oc5w (R) DO A20.

(4) * (A), (R) BO&T 220, (R) @8 (A5
OB ISED.

BOIBIHTT HSELSVESH BLOSD DS

ariio HVE H020H0DE

(1 3.

(2)  esDew, 2rededed Dafeses.

(3) BN, VO HoDAE wdsdo.
(4)  Qe3 35D A 55T, ©DHIHO.
Fersdo |ras

(1) Sol& [P deheod o 138,

(2) ©oBWET TR dde oo oD

B2F Ndoen.

(3) ©OHTT, Soomren olaren Dven
AErD) oo (6. >

(4)  2>8ab 1>28.

COIOIDTE PSS IIVEG SPosS* D
AdriSen eraryon ?

D 13 DbrSen
@ 14 nGriSen
3 15 ndrsSen
@) 16 nErsSen
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Part D
Geography

{36)

91. The greatest variety (diversity) of animal and 1.

plant species can be found in

(1) Tropical Moist Forests

(2) Temperate Deciduous Forests
(3) Taiga Region

(4) .Desm'ts and Savannas

92. Seasonal differences are maximum in
(1) Mid Latitudes
(2) High Latitudes
(8) Low Latitudes
(4) Subtropics

93. What is the proper river order from North to | 83.

South ?

(1) Chenab, Jhelum, Ravi, Sutlej, Beas
(2) Jhelum, Chenab, Beas, Ravi, Sutlej
(3) Jhelum, Chenab, Ravi, Beas, Sutlej
(4) Chenab, Jhelum, Beas, Ravi, Sutlej

94. Naupada Coastal and Marine Biodiversity (g4

Area (ICMBA) is located in the district of
(1) Srikakulam

(2) Vijayanagaram

(3)  Alluri Sitharama Raju

(4) Visakhapatnam

95. Arrange the following cunstitueﬁtﬂ of the
atmosphere in descending order (in terms of

their quantity) :

(1) Nitrogen, Oxygen, Argon, COy
~(2) CO,, Argon, Oxygen, Nitrogen

(3) Oxygen, Nitrogen, COg, Argon

(4) Argon, CO,, Nitrogen, Oxygen

92.

96.

8D
21

2060, Spf o L) D0 Sy
CAChadTid )

@ BAS00He B @hyen

HDIE D BT D) Bhyen
T |2roddo
ST EEN SOOCID DST) e

(2)
(3)
(4)
ey BEren N0 OLTow
(1) S0Q§ 50T

@ el eSToOF D
(3) 550 0T e
(4) SDdRDOGETED

&éso Nod S8erd8 JBS SO |80
oJolé3 ?

(1) DHard, deo, 82, dwe, DalrR
2) Zeoo, Dad, HAFR, O, AW
%00, D3, 53, DD, SV
(4) QE, oo, HAryn, 62, oW

THh AS JH005) HAVIES BIIDAS 0o
(5.2.0.5).2).) & 2eresS Sod

@ B dogio

(2) QadHSH00
(3) ®OrS VTT O
(4) QTP O
eS80 Eod rrod eltire
1E00S @808 (88 HBSroS)
@ DSBS, wdyess, eyss, co,
(2) CO, TS, e insS, J&'=2S
(3) e8Hzd, BISaS, CO,, aFS
4) @&Fy, Co,, BISHS, 88yas
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(O]

( 36) R
> o ﬁgﬁﬂlﬁﬂﬁ' Lﬂ :J.
96. Qﬁnsld&r the following statement and answer pa8. Sod L;;}ge_;..:j;;’)::ﬁ HO
the question, DAFCTH0 Aed SO
Statghwnt. (S5O

97.

98.

It took more than a million years for the world
human population to attain the one billion
mark. But it took only 12 years for it to rise
from 5 billion to 6 billion.

Which of the following time period can be
represented from the statement ?

(1) 1950 - 1963

(2) 2008 - 2021

(3) 1987 - 1999

(4) . 1990 - 2012

According to the Scheduled Castes and
Scheduled Tribes Orders (Amendment) Act,
1976, how many Er:he&uled Tribes are notified
in the State of Andhra Pradesh ?

(1) 31
(2) 33
(3) 35
(4) 289

As per Census of India 2011, which of the

following group of States and Union

Territories does mot have Scheduled Caste

Population ?

(1) Nagaland, Sikkim, Tripura, Lakshadweep

(2) Nagaland, Lakshadweep, Andaman and
Nicobar Islands, Mizoram

(3) Nagaland, Lakshadweep, Andaman and
Nicobar Islands, Mizoram, Arunachal

Pradesh
(4) Dadra and Nagar Haveli, Andaman and

98,

Nicobar Islands, Tripura, Mizeram

HHOTS SIS B

Fe5e08 .8 :nq;
o O G0

iﬁf F;m?@cﬁééé DOAED

12 503 y07e0 HHOO:

808 T3S D DO B

Ardochadd) ?

(1) 1950 — 1963

(2) 2008 - 2021

1987 — 1999

1990 — 2012

5o el 5 HE D
< & d"ieo

2 1DHEES DOk

(4)

247 Hoeren, NEFIQ S éredtd f&
(H38e) Bo, 1976 (D500, @oBH0E
R0 AD) TS Bien SBD BT ?

(1) 31
(2) 33
(3) 35
(4) 29

2011 270 2T BEO |1H560, 208
oeFen, SodIDS (romrerd ndrid
SoeTred 2Rrer o Ticky ?

(1) &Tmrerod, B8O, (BHS, ©LAHD

(2)  Frerol, o585, OGS, DS
HJen, Soro

@ TTerod, o H5, WOCHATS, DEH

Aspen, DEo, ORETSS | HES

e, S0 B, wossss
: ®, 8%
DHen, |BHS, estse Serb

(4)
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100.

(37) 51
g9. Match the following (Sex Ratio) : 99. 206 73D & Tabod (Dol DH D)
List 1 List Il B s f)ase []

a. Puducherry I. 993 L8 I 993

a i . :
b. Tamil Nadu II. 1037 b 5Deaehy 1. 1037
¢. Lakshadweep III. 996 cl LB IIII 996
d. Andhra Pradesh IV. 946 d N IV. 948
Choose the correct answer using the codes | |
given below : ?mé 235008 FHOD GHTrAoD KBS

. & 4 d DAFTETR), OO0

@ 1 I v I a I“ 11’1 ;r ;I
2y 1I I IV 111

(2) 1II 1 IV II1
3y 1II IT1 IV I @ . I . 1
4) I 11 111 IV @ 1 I I v
What percentage of rail routes were electrified | 100. 38} 2019 7r¢38 2rd85i08 o T80
in India by March 2019 ? Ben Srgren dehEdoTrd ?
(1) 45% (1) 46%
(2) 5091% (2) 5091%
(3)  75:90% @) 7590%
@) G190 (4) 62:12%

101.

Match the following Coal-based Thermal

Power Stations and their States ;

Choose the correct answer using the codes

List I
(Thermal Power
Station}

a. Kudgi
b. Kahalgaon
c. Sipat
d. Dadri
given below :

a b
(1) 1 11
(2) 1II A%
3) 1v 1
4) 11 v

I
1L

I11.
IV.

111

111
I11

List IT
(State)
Chhattisgarh
Karnataka
U.P.

Bihar

101. & 808 &N ards S 2356
VARSI 78 olFTreS H0F008

erd)ee | D Il
(525 D238 (O a"en)
Deiad)
a. %8R L - S80S
b. &3erdS . $gres
e odd I gl
d. oB . H56
&P @S5G0S FhoD GHTTNoD DB
DAFTR), dotHod

a b c d
(1) I 11 nr I
@un w 1 m
(8 IV 11 7 A
(4) 1II v III I
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102. Match the fﬂllnwing:

Methods of
Agricultural Agricultural
gﬂginnalisutiun Geographer

a. Lrop I. W i
combination SN

b. irffmﬁmﬁ II. Bhatia, Jasbir Singh

on

¢. Crop III. Chisholm, Bhatia
concentration

d. A;gn:ulmml IV. Kendall, Majid
productivity Husain, Jasbir

Singh
Choose the correct answer using the codes
given below :
a b ¢ .d

() m I s SR

@ I II 1 GO &

g @ O 1 IV

4 1 II v Il

03.

104.

Which of the following type of grassland

separates Cold Asia from Dry Asia ?

(1)
(2)
(3)
(4)

According
which of the following is the

sequence whi

Et&ppe
Taiga

Tundra
Prairie

between different forest types 7

(1)

(2}

(3)

(4)

Reserved Forest > Protected Forest >

Village Forest

Protected Forest > Reserved Forest >
Village Forest

Reserved Forest > Village Forest >
Protected Forest

Village Forest > Protected Forest >
Reserved Forest ;

to the Indian Forest Act, 1927,
most appropriate

ch shows the degree of protection

| 38)

103.

104.

Q

102. 808 5830 eaohod

(roBaursses DS TS
Sgieen 5
a. Hoey Zwons I. Hab, m:-ﬁ
b. sovopdSso I 23057, 22000
20f
e Hotrs|iie I DS, 8T
d. Sssarohee)ss IV. S0, ;‘.ﬂ‘;ﬂcﬁ
U5, 200
ob
B aSsoS FHoD GHTTA0D SO
JErER) doEod -
a b c d
(1y I II v I
@ 1 m IV
(2 HOI I I ¥
4) 1 II IV 11

808 T8S O SEDS B Frdwen DV
es2a5Te G e Hod I TIraw ?

@‘E’fa:r

(2) T
(3) &ol
4 |26

arded @dr) B0, 1927 D580, DS dste
ohd 0o G S5 oA Grdod
808 BS @BI0s JIVDSTS €0
O 7

8385, 0 > %8¢ r

iy | £ >TY > 2T
68 0 > 6x6 -

a‘arg .Snn @"E'&" - 355
B8 ‘ﬂr L

#a’;ﬁ VOR > ITeE, oY > 58S
&y QJ‘EIE} > 05 &
O .

(2)
(3)

(4)
VY > 8255,
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105. which. of the following indicator species are

Iﬁn

107.

108.

not found in Srivenkateshwara National Park
of Andhra Pradesh ?

Wood stork
Cycas beddomei
Red sanders

(1)
(2)
(3)

(4) Slender loris

Which of the following is the first pipeline
constructed in India for the transportation of

crude oil ?

(1) Mumbai High — Kayoli

(2) Hajira — Bijapur - Jagdishpur

(3) Naharkatia— Nunmati — Barauni
4 J a';mnaga.r — Loni

Andhra Pradesh is the sole producer of
(1) Barytes.

(2) Apatite

(3) Iron ore

(4) Granite

Which of the following factors aré responsible
for the higher Sugarcane production in
tropical regions as compared to sub-tropical

regions of India 7

I. Cool nights with clear skies
[[. Latitudinal position

III. Long hours of sunshine

IV. High temperature disparity

Choose the correct answer using the
given below :

codes

(1) 1and Il only

(2) I,1IandIII only
(8) I, and IV only
{(4) 1,IIandIVonly

1086.

108.

by HBOEBESO 555 =645
e0lP £S5 a0 P g;:::;:mf:.;‘g:- g
& 1800 rDOD
@ 50 &0
g TP BEHED
3 ©°b ﬂ'ﬂ;ﬁa
?;2-:)-:‘.35 B0 uﬂ
:: o) S 5550000 ff‘s';; 5:?
aﬁ'ﬁ:‘&ﬁéaeﬁ& 2800 =005¢3 R
(1) Swo B 5350
2 O Horiyb - B AT FUNe
@ oo SNST 25D
(4) 2S00 - S
- HﬂLﬁLﬁﬁE DBE @red R [mplen
@ 27 DES)
(2) PP T ALS,
@) 20D PIRO
@ rSS

ESTIOSD WH-GRNOBO oz
FOhH sasode \Fowd ©O TO
&5 1 D8 808 STESED DN SO T OW ?

I 530S ssmiod SO Trlede
II. @503 PSo

I SArS50732 Q80 ffoden

V. ®@O% &P odIrdd

&HDS BD50BS Fhodm GHTNoD DT
AIFTaR) JothEod B

(@) 1500800 s

(2) I, 11 SHBcko I SrehsdH
(3 L I H0ckm IV Sriedah
(4)
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110.

111.

Who among the following made the first

attempt to demarcate Indian Agriculture into
4 macro regions ? '

(1) Sengupta

12} Sdasvuk

13} Jasbir Singh

(4)  Sengupta and Sdasyuk

Which among the following statements are
true about Indian Steel Industry ?

1. India is the second largest producer of
steel in the word.

II. Indian  steel industry  produced
51-89 Million Tonnes crude steel with
5-1% share in the total world production.

ITII. The production of steel in the year 2020
15 more than the previous vear.

IV. India is ranked first in the production of

crude steel.
Choose the correct answer using the codes
@iven below :

(1) I and III
(2y I, 1T and III
i3) IandlII
4) JandIV

Match the following Geographical Heritage
Sites with the States (location) :

Geographical Stat
Herttage Sites e
Lonar Lake I. Odisha

b. Siwalik Fossil Park II.  Rajasthan

c. Akal Wood Fossil III. Maharashtra
Park ‘

d. Pillow Lava at I[V. Himachal
Nomira Pradesh

Choose the correct answer using the codes
given below :

a b c d
1y I i ITI v
(2) - 111 IV 11 I
(3) 11 1V I11 1
(4) II1 v I 11

{ 40 )

109.

110.

111.

(0]

806 oS rEBAH SESAOITA), 4+ WO
rosrent HO0T Bnesed (D00 adedtid
DA ?

) B0
(2) s
(3) 23000 of
(4)  TShay SHbckn LS

rEHah ey DB HowodHod Sod

S 26 dzo ?

L - &y a8)BS rosdio D08
oS Gob.

I  2r88aH &y HOFD Bndo 100
G318 51% Jerd 5189 WOCHI
€35 SNG &y ad)a TRob.

I 2020 HoSsysosS ey cred)ed Hed
X055 350 0T JEVL65.

IV. Snd o) @ 8 2rdsddo

- B Frdod’ sod.

&S BIDES TN GHTACD DB

DAFTETR), SOt
I soddioo 111

(2) I, II Sodaiw 111

(3) IOciuIl

(4) 1000 IV

808 THVE IS8 (HBFTOD orlarod

(19TH0) S8 0b

TR D8 g
(ST OYs0

a. Sarb H60). I. z2.&7

b. OEJVSE 6y 1. oom S

¢ ©56JISIVS L HHovd

Feule}
d. Sor 3G HS’ IV. SrarosdS P ni]
e

O A JDAS FhHOD SHTFA i

NPT SothTod - o R
a b o d

(1) I 11 .IH v

@m w o

(3 1II v m g

@ W I I I
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112 Which of the g, " (41) 45 ¢ (4688 DO 53696950
not related to iy, dhyan sr:f:ﬂnhmﬂl Stries jg | 112 %Dﬂ! 52 (’i _ Ei';& :
(1) Bhander Serie g :Tﬂ; oih oyBt
fm e @ Bl :;,hja

113.

114.

115.

II.  Braided Chanpelg
III.  Alluvial Fans
IV. National Levees

G_hnnse the correct answer using the codes
given below :

(1)  Iand Il only

(2) II, III and IV only

(3) I, Il and III only

(4) I, IIL Il and IV

Which of the following Southern States shares

boundaries with maximum number of Indian
States ?

(1) Telangana

(2) Karnataka

(3) Andhra Pradesh
(4) Tamil Nadu

There is a Place-A with longitude 060° West.

There is another Place-B with longitude

090° East.

If the local time at Place-A is ];2 AM, what
would be the local time at Place-B !

(1) 8&PM
(2) 10PM
(3) 12PM
(4) 6PM

- Hen w0

113. S087ES ﬁrmﬂgﬁé i DD WO

HOS0M D8 IBOG I ¢

. 63D 2| Groen

1 edow IO

I 20

v, 8ok BIR

A as50s SHOD GHTBriod OB

L 35roTR) JotHE0s |

1) TS0 I Sread

@) 11, 111 8050 IV Sr(@ e

@) 1, 11 8050 111 SFeeh

L 11, 111 SB0%0 IV

114. 806 O &8rd oolaPen $83 SosS
2 EAAD olarod HOITDOD
QOTNE0ETON 7

(1) Soorre
@) sges

(3) @oIBINDT

(4) ST

115. Baro¥0 060° H)00" (DTFF0- GOd.

090° &ry) ODarofod HOE WE%0-D
0d,

DB30-0 I JE JHHARO 10 &SSO

VS, |HTI0-D 5§ FIE HCHO o
@308 ?

| @ 8 radolsso
@ 10 ravolso

® 12 chogo
@ 8rchoo
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116. Consider the following statements regarding

117.

India :

L.

IL.

I1I.

India has an area of 3:28 million sq km,
and accounts for about 2-4 percent of the
total geographical area of the world.

The mainland of India extends between
latitudes 8°4" N and 376 N and
longitude 68°7° E and 97°25' E,
Presently India has 28 States and
8 Union Territories.

Which of the statements given above isfare

correct 7
(1) TIonly
(2) IandIIonly
(3) Iand III only
(4) 1,1I and III
Mateh the following Irrigation Projects and
their States (location) :
Irrigation Projects States
a. Parwan Multipurpose 1. = Madhya
Project Pradegh and
Uttar Pradesh
b. Renukaji Dam Project II. Uttarakhand
c¢. Lakhwar IT1I. Himachal
Multipurpose Project Pradesh
d. Ken-Betwa Link IV. Rajasthan
Project
Choose the correct answer uging the codes
given below :
a b c d
(1) I 11 111 Y
2y IV 111 II I
(3 II v I 1
(4) III v II I

(42)

116, 2r3s878 5020500

(5]

HohSoob . *
I ordefido 328 ma;gi ﬁ?
Bt DGO e vy
1550506 edo ai”f‘is@ 4
Oy 24 TS0 T 4O O0. ﬁ
DG Zreriio
I 2r88033 2 iy S e

II1.

wgoTeD 8°4’ D, 3
68°7 =, 97°25° R o0
ss0 wesTiios 23 TIF,
8 So|&TOES [FroTFed GRTLO0

&g DR00D &Ob.

235 BDIS DEOIOS” DO FBSB/RADID ?

(1)
(2)
(3)

I Sr|edab
I S8 11 Srehad
I SoBasn I Ariedad

L 11 SoBako 111

117. 808 JBrHde |TEPen, T8 oaFen

(HE30) L0 yod
DI DS
(& ben ey
a. HOSS HDYJED L DHSUHTS,
a8 SSS|HET
b. Densd orgedd RS 1. adorpod
¢. ©IrshOHVIEND L SrIrsS
Eraz telat]
d. 35-8¢r5 Oo8 @F§ IV. oS

O BHJVES FBod aIHFrAoD DOS

HATTRTR) J0HTOR -

a b c d
1) X 11 111 v
@ AU 1 S 1
(3 11 v III 1
(4) III v 11 I
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118. Match the following Tiger Reserves with their

States (location) :

a
b.
c

d

Choose the correct answer using the codes

Tiger Reserves

. Periyar

Sariska
Buxa

. Indravati

given below :
a b
(1) 1 I1
2y IV II
f 3y IV 1I
4 IV 111

119.
to
(1)
(2)
(3)
(4)

120,

Petroleum
Mica

Iron ore
Gold

¢
1L

IIL
IV.

111

111
II

Stales

Chhattisgarh
Rajasthan
West Bengal
Kerala

Phlogopite and Pegmatite minerals are related

Which of the following is currently the biggest
Thermal Power Plant (with an installed

capacity of 4,760 MW) in India ?

(1)

(2)

(3)

(4)

Mundra Thermal Power Station, Gujarat

The Vindyachal Thermal Power Station,

Madhya Pradesh

Sasan Ultra Mega Power Plant, Madhya

Pradesh

Talcher Super Thermal Power Station,

Odisha

(43) (o]
118. 2086 Db Babgerdy el G‘L?ﬂg
HOSFe 0% IHETH0) -
28 B8z:64) oy aren
a. 200E L GanAs
b. HOD, I. oz
€. 235%) 1. 5235 Borrd
d. RO|TFDed V. 3o

(1)
(2)

(4)

(D)

@

(3)
(4)

(1)

@

(3)

(4)

_

HOTDS HDATETGZ0E DOBE Thndm :

a b ¢ d
I I1 ITI v
v 11 I 1
v 1I - 111 I
v 111 I I

119. ST RS, IS HAeren Ho20A0DSD

NEOaho
VS
R WSO

20mra8o

120, 808 8S (HWS0 rOSTIoS” wA S

B85 HSE Fodd (4,760 orrared Do
g0 A6 ?

Swoler GO HIB VLS, oS

oSS GRS BSB  BHas
DTS :
ARG O e JIE op oS
SoSSDHTE S
S0 Db HES HIE

?k;’;lrﬁ, L&?
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